Nome_______________________________________  Data__________________

1 – Põe “em pé” as contas e resolve.

	5+6 =
	8 + 8 =
	7 + 7 =
	7 + 2 =

	



	



	



	




	8 + 9 =
	1 + 8 =
	1 + 1 =
	9 + 9 =

	



	



	



	




	6 + 3 =
	7 + 6 =
	3 + 4 =
	8 + 8 = 

	



	



	



	





Conta de 3 em 3 até 21.

0 _______ - ______ - _____ - _____ - _____ - _____ - 21

Resolve.

A Maria tem 13 bolicaos. Deu 11 ao Micael. Quantos tem?

                                              Ficou com _______ bolicaos.


_____    ____ = ____











